
Installation Instructions

Phoenix Products Company Inc.   8711 West Port Avenue   Milwaukee, WI 53224 USA
Phone: +1 414.973.3300   Toll Free: 800.438.1214   Fax: +1 414.973.3210   www.phoenixlighting.com

Cube-Light Rail Mount Kit

Product design and specifications are subject to change without notice. 

N5610003B
03.02.16

! CAUTION

•	 All wiring should be done by a licensed electrician in accordance with state codes, local codes and National Electric Code (NEC) standards or International 
Electrotechnical Commission (IEC) standards. 

•	 Improper installation may result in serious injury and void warranty. 

•	 Contains parts and assemblies susceptible to damage by electrostatic discharge (ESD).

•	 When using luminaires, basic safety precautions should always be followed to reduce the risk of fire, electric shock and personal injury.

Flush Mount Bracket Removal

1.	 Remove the two (2) flush mount brackets from the fixture by loosening the M6 screws. 

Rail Mount Bracket Installation

1.	 Determine mounting location and ensure clamp properly fits around the desired rail. Standard clamp accommodates a 1.50 inch pipe size (pipe OD = 1.90 inches).

2.	 Put one (1) M6 flat washer and one (1) M6 split lock washer on each M6 screw (Item 3). 

3.	 Insert each screw into the side hole on the rail mount bracket and then the fixture housing. 

4.	 Torque screws to 70 inch-pounds.

5.	 Wrap clamp around rail, with threaded ends facing aisle. Refer to Figure 1.

6.	 Insert threaded ends of clamp into support bracket (Item 2) and then rail mount bracket (Item 1).

7.	 Insert one (1) 5/16 lock washer and one (1) 5/16 hex nut onto each threaded end of the clamp. Tighten securely.

Figure 1

1

2

357

8

6

4

Rail Mount Kit Parts List

Item Description Quantity

1 rail mount bracket 1

2 support bracket 1

3 M6 screws 2

4 5/16 hex nut 2

5 M6 split lock washer 2

6 5/16 split lock washer 2

7 M6 flat washer 2

8 U-bolt 1


